=EAREHEENEEMNERR FTEH2

AERLE © HI (305 & iR i) : 800MHz - 3000MHz
HI5E BEZ BIERRE | NIWAZERAERAREMBRELEE (vwW/n)
ki) T (%) R{EECER{E X AECER{E
10:30 10:35 5 29.3 52.5
10:35 10:40 5 32.5 75.4
10:40 10:45 5 28.9 54.9
10:45 10:50 5 315 64.9
MERLF  HI [RI5E iR it ] : 2/MHz - 3000MHz
HIE B Z I 5E B e SRAREHREAEE (mw/n)
ki) T (%) {EECER{E X AECER{E
11:00 11:05 5 1.2 1.9
11:05 11:10 5 0.9 1.7
11:10 11:15 5 1.3 2.1
11:15 11:20 5 1.1 18
SEE:1mW/ni=1000 ¢ W/rd
AERSLUE @ H2 [ 30 5E f il ¥ ik ] : 800MHz - 3000MHz
FIERZI BIEERE | NWAERERAREHEEHEE (LW/n)
k) T (%) {EECER{E X AECER{E
11:25 11:30 5 975 167.5
11:30 11:35 5 89.9 1345
11:35 11:40 5 93.5 147.9
11:40 11:45 5 92.1 1345
SER: 1mW/ni=1000 ¢« W/ni
MERLE  H2 (3078 A iR ¥ i) : 2/MHz - 3000MHz
BIEEZ I 5E B RS SRAEEHREAEE (mW/n)
Ba T (%) KT 8RB N ]
11:45 11:50 5 15 2.4
11:50 11:55 5 1.4 2.2
11:55 12:00 5 14 2.3
12:00 12:05 5 1.6 2.5




AERLE © H3 [ 350 7€ f il 3 ik ) : 800MHz - 3000MHz
HI5E BEZ BIERRE | NIWAZERSRAREREEHEE (W/ni)
k) T (%) {EECER{E I AECER{E
12:30 12:35 5 95.2 1445
12:35 12:40 5 91.2 119.6
12:40 12:45 5 95.3 1235
12:45 12:50 5 94.3 1305
AERSLL - HS3 (30578 i 3w ik ] : 2/MHz - 3000MHz
HIE B2 I 5E B RE SRAREHREAEE (mw/ni)
BE BT (%) {EECER{E I RECER{E
12:50 12:55 5 1.2 2.2
12:55 13:00 5 1.4 2.1
13:00 13:05 5 15 2
13:05 13:10 5 1.8 2.2
SEE:1mW/ni=1000 ¢ W/md
HERSLUE : HA [ 30 5E f il ¥ sk ) : 800MHz - 3000MHz
HIE B2 AIEER | DNILAZHAERAEEMEEATFE (uW/n)
BE T (%) KT 8RB AR ERIE
13:20 13:25 5 245 33.7
13:25 13:30 5 23.8 345
13:30 13:35 5 22.3 29.8
13:35 13:40 5 21.8 28.5
AERSLUE ¢ HA [0 57E B i ¥ ik ] : 2/MHz - 3000MHz
BIEEZ I 5E B RS SRAEEHREAEE (mW/n)
Bia T (%) KT 8RB AR ERIE
13:40 13:45 5 1.1 2.3
13:45 13:50 5 14 2
13:50 13:55 5 14 2.1
13:55 14:00 5 1.7 2.2

FE:ImW/nd=1000 « W/mi




